@1=y hxX

cx

HREEmT A

rotyy—

7otby-—

v~ Be
aro7tvy——8BxR
7 | R (TVRTL—b) | @R (¥—2/XUK) =97 =2 v—7—hb
Vi -
t
H
Y
|
w
] EE A
TT TUE-6
U X | TU-DS TUE-6(DIN)
DD TUM-2 — TUMY =27 —210 E—
25 | TX-DS TXE-14
A
S AFD-5.5| AFDE-55A, AFDE-5.58 TUM-2 —_— TUMY—2%4—210 TU-308, 603 —%—h
#
TDH-5.5 TDH-55%—7%
T |TDH-55T TorEes TOH85T7~7
D
#
7 | TDH-14 TDH-147 =%
TDH-14T TDHE-14 TOH-14TY=7| - -
NS-15 NSE-15 — —_—
N R
ﬂ84 NS-F NSE-F NST:sz\A71—7
7
NS-TT NSE-TT I N
Iiﬂlmi (ZVYRIL—H) (B5SEM : 100)
OTU-DSH, TX-DSH @AFDH:
s
C , AFDE-5.5A
X% |TUE-6|TXE-14 & AFDE-5.5B
A AstiE | 36 | 475 A Asti% 52.7
Bti& 45 45 Bt 60
Cstix 3 5 )4/871 ctix 4
ONSH
X% | TDHE55| TDHE-14 F,:X 4 | NSE-15|NSE-F |NSE-TT
Astik 445 | 50.8 A Astik 37 | 37 37
Bti& 59 69 Bti& 62 | 62 62
Cti& 5 5 Cti& 3 3 3

D131




CONNECTING DEVICES

FILIL—I HeE HIN— Sa—hN— -
7
. & +
2, i i
o= !
i - AAALLEELLALL !
A S A S &
TUB TUL Tuc-os - TU-DS a ;
B TKB TXL L SB11 bbD
TXC-DS SB11CB TX-DS ;fsz;fsg
A
TUL-W
TuB SB12 F
TXB TKB L /I;t AFDC-5.5 SB12CB AFD-55| p
#
SB11 TDH-5.5
TDHC-5.5
SB11CB TDH-55T| T
TXB TKB TXL TJL El
sB14 TDH-14 |
Tones SB14CB TDH-14T
— NS-15
TXB L o o NS-F 2‘,‘
TUB TKB TUL-W TJL m
— NS-TT
Je=5 c-oom Gt 100)
Bka TUM1' | Tum2" | Tor o5 TORSST T4 | TOR-IAT) NS5
B AstiE | 8 10 8 8 10 10 8
Vv ; BsHi& | 900 | 900 225 | 225 | 225 | 228 1
£ BWEt=C |cshiE| 1.0 1.0 1.0 0.9 1.0 0.9 1.0
A XHRVE t=0.5mmft4% 5 V)
I N=0—-2 (BR558341 : 100) I I=0v—h (BR5SE43I : 100)
OTUMT—54—2Z 10
12 W% | 1U-305,60
M AR t=0.3 nm el L
102 EHS— X EyF 12,17

D132

D

BRI



@1-yhX

T oYY —

7otYU-—

I ZIVEL= (BRZEE( : 50)
@ TXB(DINL—IV) O TKB(DINL—IL) oTUB

6.5 7.13 6.5 7,13 57 13

S [ 5] [@r

5.2

A Zf&j>é SE b-P)E

1,000 1,000
@ 15 @ 9
30 24
EAWHEE EAWEE EAWEE
TXL,TJL,AFL TXL,TJL,AFL TUL,TUL-W
I weR (ARSI : 50)
OTXL(TXBA) OTJL(TXBH) OTUL(TUBH) OTUL-W (TUBA)  @AFL (TXBH)
M4X15

M3X10

M4X10 M4X15 \ i M3X6
dl ol JREl R gehl
125 12% 4 1ﬁ ) s 1(;5\/):‘-'-32"'L ]MW

I AIN— (BRZ5E : 20)
@TuUC-DS O®AFDC-5.5
oTXC-DS @TDHC-B.5 X4 |AFDC TDHC: TDHC-14
@TDHC-14 4 55| TOHC25 | TOHC-
¥4 [TuC-DS|TXC-DS Astik 20 10 14
AstiE | 40 40 Bsti& | 1,000 670 670
B ; -
I Bi& | 157 | 165 C% B Citik 1 0.5 0.5
A\1 #1548F }A\‘
I’JEI— ~IS— (BR5SE41 : 10)
g 13 SB8RCB-2 SB11CB-2 SB12CB-2
B 12 SBSRCB-12 SB11CB-12 SB12CB-12

4.5

% | o {_._q__a[

D133



CONNECTING DEVICES

I EEEY omu E—EUCHET EAICSER R,

@TU-DSEV2P

HEEEE
@ . TU-DSH
o TDHF
TX-DSH
ONS LINK PIN
BEEEE

T
r inn b

TU-DSHHZ

—

[/

(BR5EE4I : 100)

@AFD LINK PIN []

EEHE
AFDF
AQDF
X4 Lt | &%
AFD LINK PIN 8 8 | AQDA
AFDLINKPIN10| 10 | AFDH

HRAEEBY 48

Ib—W#ij

L—=IFvvTIOVTIE (D15R—-Y) &
CBRIEZN.

I LIN—R by IN— (BRZSE : 100)

®TU-DS-LC

EAE

TU-DSH
TX-DSH

KA R (— EBIFEESHEIEA CTEDRECE O THBD R,

(ARZEEM - 50)

Imﬁﬁﬁmjad

®TU-DSB ST55 %TU-DSBEA

fr

vavhmﬁmmﬁs

ONS-157Y

NI

ek

25

3 t2
O OHR
w ]

0
0

D134

BRI



